ol FoiE &A= 2450 7H7F FEel Al 50 7HE H71H 1 70E 10
99l o] Fabdn. E4850] 1500 9& @A o 2AE
o R 7R Bl 5 Q=] et ?

@D 20074 @ 2507 ® 3007
@ 35071 ® 40074



H TA A= 54 g Hel 2000 Yofl +4E 4= =],
1800 ¢ &) H{AH|E Wil AvpEC] 71H oF Hof 1200 € of] 7+ &
Aot 254E E Wo] oA AbE F9o AutES| 7hA Flst=
Zlo] fEeh71?

% oo
¥ 1z



30 9 ol4o] Bl B T Abed 4000 9 SHe R 30% &
F9l8) Fi urEto] Girk. @ 1 ol golw 30 Bl B AF VL
A= o] frelgioh

® 2% @214 ® 2% @ 231 ® 24



%:]7}9] 2 QQJ o]o_]_‘% %O:] ;8]@'
o

A7t A 1000 9L SQlate] Tor
. o]olo] Y7}kl 10% o]Ato] AT A7t An} o
shofet.

B .
:

rr e

A

Aol g =X

i3



5. The 19T dol HlA ol A3E 300g0] STt HEES 8%
olstrt A Sl B Ha B gL Polof v}

@ 50g @ 55¢g ® 60g @ 70¢g ® 75¢g



2x—2) > -4

olelns 4 X;Q <xt2 S =mY
0.1x+0.5<0.8
D x<-2 @ x>3

@ -1<x<3 ® 0<x<3

® —2<x<-1



7.

Aol A 3000m Holfl 7|12 7t2] 2 o, A-gofl= 1 2ol 50m &3
o= Atirt 30 2 ool =&str] flote] Tl 1 2ol 150m <]
&2 02 Hoot gt Aot AgE?

@ 250m ©]s}t @ 500m ©]s}t ® 750m ©]5}

@ 1500m ©]s} ® 2000m ©Js}



Ho]1 3]
NEE 7ok shex] Fatoler

a Cf: km



9. ofW A0 2uf ol 6 & M Sz 9 Kk 23, o7 o A 1L 2paiS)
3] S W 45 9 Bk Atk Gt o] o), of @ AA5E Fatolet.

D S
=%



10.

o AfrtelZe] g1o] Zolis Wile] Polo] 2 wirct4 7 A,
30]7} 5 o]k, o] AltkelZo] Hol7} 15 o4 30 ofah U wjo] Wle]
Zo]o] W9?

10 16 10 16 10 16

— < x< — — < — — <
@130_x_3 @) 3<x_163 ©) T <F<3
@—3 <x<4 @3s)cs—3



11. ol AF7HA] 2 Al o] A g oA 22 924, 837, 89
< woket. ol W7bA] 212 Al @ 4=2] o] 85 A o] 914 o5kt
= A A u] AR Aol A E A o] Hrotof 5l4=2] otofzt,
(&, AL 100 F T oltt)

> R A



a+11

o 57k -2 < x <39 B, 44 ae]



13.

H =
Pr52)

12-x<2(x+1)+1<4x-1

oE —~— 2

—a<x<a

91

D 0<a<?2 @ 0<ax<?
@ 0<ac<3 ® 2<a<3

of o7t 92 W, ¥4 a o

® 0<a<3

s

9/]



14. 10% 9] £2FE 400g & 6% 2 22&2 4olA

AgES HEHL gtk o, 6% 9 AFES A2

fofet,

a E'I-: - gO]ﬁl-



15.

12% o] A9E 300g

olete HFEL WE

@ 60 @ 80

2
= s = =

Tt x o GO= §2
® 100 @ 120




